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DIVISION

FINDING: HOW MANY IN EACH GROUP?

PROBLEM

Maggie made 3 necklaces. Each necklace has the same
number of beads. If Maggie used 30 beads, how many
beads are on each necklace?¢
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WHAT DO WE KNOW?

» Maggie is making 3 necklaces. (Number of groups)

» She has 30 beads. (Total number of objects)

» Each necklace is a group, so there are 3 groups.

SHOW YOUR WORK
Necklace 1 Necklace 2 Necklace 3
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Answer: Maggie used 10 beads on each necklace.

Equation: 303 =10
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the total number of the number of the number of
objects or beads  groups or necklaces  objects in each group
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